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=2 0 0 20,000 20,000
0l & 0 o| 6,080,000 6,080,000
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= 0 0 0 0
0fl & 0 o 1.010.716] 1,010,716
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=2 0 0 0 0
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0fl & 0 0 491 491
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=2 0 0 0
0l & 0 570,266| 570,266
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=51 0 0 0
0l &t 0 840,000| 840,000
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=2 0 0 0
0l & 0 50,000] 50,000
et 24 0 50,000] 50,000
=51 0 0 0
0l &t 0 2,400,000| 2,400,000
JlEr2 | 24 0 2,400,000| 2,400,000
=2 0 0 0
0l & 0 4,268,266 4,268,266
29 24 0 4,268,266 4,268,266
=2 0 0 0
0l &t 0 4,268,266 4,268,266
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=51 0 0 0
0l &t 0 2,800,309 2,800,309
24 0 2,800,309 2,800,309
=2 0 0 0
0l &t 0 2,800,309 2,800,309
24 0 2,800,309 2,800,309
=2 0 0 0
of &t 0 7,068,575| 7,068,575
8 2 0 7,068,575| 7,068,575
=2 0 0 0




